MexaHU3M ¢ ABYMs CTelleHIMU CBOOObI
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3amaga K-25.1.

woA. = wpp, =21, AB =T, BC =6,
DE =2, 0A=CF = BD =22.

23

3amaua K-25.2.

wer, =15, wpp, = —15, AB = 10, BC = 6,
DE =4,0A = CF = BD =4V2.

23

3agaua K-25.3.

wOA/Z = —6, wpg, = —18, AB=9, BC =6,
DFE = 3, OA=CF = BD = 3V2.

23

3agaua K-25.4.

WOA/Z:’?, wCFZ:_7, AB:’?’ BCZB,

23

3amaua K-25.5.

wer, = wpp, = —T, AB =1, BC =1,
DE =2, 0A=CF = BD =2V2.

28

3amauya K-25.6.

wou, = wpp, = 15, AB =9, BC = 5,
DE =3,0A=CF = BD = 3V2.

23

3agaua K-25.7.

woa, = —3, wcé =-9 AB =9, BC = 3,

23

3amaua K-25.8.

wou, = —1, wep, = -3, AB —8, BC =1,

23




3amaga K-25.9. 29

woA. = wer, =3, AB =9, BC =3,
DE =3,0A=CF = BD =3V2.

3amaua K-25.10. 25

WCF, = —2, w[;Ezzl, AB =4, BC = 3,

3apaga K-25.11. 99

woa, = —1, wcfz : 3, AB =10, BC =2,
DE =4, 0A=4,CF =4, BD = 42.

3agaga K-25.12. 29

N

woA/Z = -9, wpg, =18, AB =9, BC =3,
DFE =2, OA = CF = BD = 2V2.

3anaua K-25.13. 29

woa, = wer, =3, AB = 11, BC = 3,
DE =4, CF =4, OA = BD = 42.

3anmaua K-25.14. s

WOA/Z =5, wpp, = —10, AB = 4, BC =5,

3agaua K-25.15. 29

WOA, = 5, WDE, = —10, AB = 10, BC: 2’

3agaua K-25.16. 25
- C

woA, = —5, wpg, = 10, AB = 10, BC: 4,




3anaua K-25.17. 23

woa, = —9, wcé =27, AB=9, BC =1,
DE =2, 0OA=CF = BD =22.

3amaua K-25.18.

WoA. = 27 WCOF, = _2; AB = 8, BC = 4,
DE =2, CF =2, 0A = BD = 2/2.

23

3agaua K-25.19. 23

wer. = —15, wpp. = —5, AB = 5, BC = 4,
DE =4, CF =4, OA = BD = 42.

3amaua K-25.20.

woa, =wer, =3, AB=9, BC =3,
DE =4, CF =4, 0A = BD = 42.

23

3anaua K-25.21. 23

WOA; =wcr, =7, AB = 7,/BC: 5,
DE =2,0A=2,CF = BD =22.

3amaua K-25.22.

wor, = —15, wpp, =5, AB =5, BC =2,
DE =4, CF =4, OA= BD = 4//2.

23

3agaua K-25.23. 23

woa, = —3, wDéZ =6, AB :/9’ BC =1,
DE:S,OA:CF:Bng\/i_

3agaua K-25.24.

wOAz :27 wch = _2, AB:2’ BC:4’
DE =2, CF =2, 0A= BD =22.

238




3anaua K-25.25. 29

woA/Z = -2, WCF, : —6, AB:47 BC =1,

3amaua K-25.26.

woA, = —9, wcﬁ = —-10, AB =3, BC =5,
DE =3, 0OA = 3, CF = BD = 3V2.

23

3anaua K-25.27. 29

’ %{

woA/Z:—S, WbEz=5, AB:Q’ BC’:S,

3agaga K-25.28.

bS

wOAz = 10’WCFZ = _]-0, AB == 107 BC = 3’
DE=3,0A=3,CF =3, BD =3V2.

23

3agaua K-25.29. 29

wor, = —3, wpg, =1, AB=17, BC =2,
DE =2, 0A=2,CF =2, BD =22.

3amaua K-25.30.

wou. =6, wer, =12, AB =6, BC =8,

23

3agaua K-25.31. 29

WOA/Z = -3, WCFZ/:_Q’ AB =6, BC = 3,

3agaua K-25.32.

WOA/Z:L wor, =3, AB;g’ BC =2,
DE=3,OA:CF:BD:3\/§_

238




3amaua K-25.33.

woa. = —6, wpp, =12, AB =9, BC = 4,
DE =3, 0A= CF = BD = 3/3.

23

3agaga K-25.34.

(,UCF; =5, WDE, :/_57 AB =5, BC =1,

23

K-25




OTBeTHhI.

MexaHu3M ¢ AByMS CTEIeHSIMHU CBOGOIbI
Ne | woa | waB | wBe | WFe | WDB | WDE
1 | — —6 |7 0 —21 | —
2 | =301 18 —10 | — 30 —
3 | — 10 9 24 6 —
4 | — —4 10 — -7 10
5 |0 2 14 — 0 —
6 | — -5 19 30 15 —
7T | — 0 8 — 3 3
8 -1 |4 — 1 —2
9 | — -2 10 — -3 10
101 1 4 — -1 | —
11 | — 0 —4 | — -1 |1
12 | — —4 |24 =271-9 | —
13| — 0 4 — -3 10
14 | — 0 —6 | =5 |5 —
15| — -2 | =105 5) —
16 | — —6 | =5 | —15|5 —
17| — 4 —72 | — 9 18
18 | — 0 1 — -2 |4
19| —20 | 28 20 — —20 | —
20 | — 0 —4 | — 3 0
21 | — -2 10 — 7 0
22 | 5 —4 140 — -5 | =
23 | — 2 0 3 -3 | -
24 | — 0 1 — -2 |0
20 | — -3 |24 — -2 | =8
26 | — 15 —6 | — 0 10
27 | — -5 |-3 |[—-10| -5 | —
28 | — 3 —10 | — 10 0
291 —1 |0 2 — 1 —
30 | — 4 3 — 6 18
31| — 8 16 — -3 |6
32 | — 2 —6 | — 1 —4
33| — 8 9 18 6 —
34| —10 |12 20 — —10 | —
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